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PHILOSOPHY

Paper 111

1. Which among the following gives the meaning
of Lokasamgraha?

(A) Actions for the benefit of the liberated souls.
(B) Actions for the benfit of humanity.

(C) Actions for attaining liberation.

(D) None of the above

2. Match List I with List II and select the correct
answer by using the codes given below :

List 1 List 11
(a) Reality is one, external (1) Parmenides
and unchangeable
(b) Reality is changing,
flux and becoming
(c) Air is the primary stuff (iii) Anaximenes
of the universe
(d) Water is the primary
stuff of the universe
Codes:
@ (b () (@
@A) v) @ @) (i)
B) @) @) G )
© @Gy @  @Gv) (i)
D) @ Gy G ()

(i1) Heracleitus

(iv) Thales

3. According to Nyaya, which kind of inference is
based on mere coexistence?

(A) Pararthanumana

(B) Pirvavat anumana

(C) Sesavat anumana

(D) Samanyatodrsta anumana

4. Whom do the tribal people of India, specially
the Santals and the Mundas worship?

(A) Tirthankara
(B) Buddha
(C) Singbonga
(D) Nanak

5. Which among the following religions is
associated with nature worship?
(A) Christianity
(B) Judaism
(C) Islam
(D) Religion of the Santals

6. Match List I with List II and select the correct
answer by using the codes given below :

List1 List I

(a) External objects are (1) Sautrantikas
directly known
in perception and not
inferred.

(b) External objects are not
directly known in
perception and to be
inferred.

(c) Both mind and matter
are real.

(d) The mind alone is real.

(ii) Vaibhasika

(iii) Yogacara

(iv) both Sautrantikas
and Vaibhasikas

Codes:

@ (b (© (@
A ) @ @) (3Gv)
B) @) @  (@v) (i)
© ®  Gv) @) (i)
(D) G @) Gv) @)
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7. Match List I with List II and select the correct
answer from the codes given below :

List 1 List 11
(a) notboth pand q (1 p>q
(b) ponlyifq (i) pvq
(c) Neither p nor q (iii) ~(p-q)
(d) punlessq @iv) ~p-~q

Codes:
@ (b (© (@
A) (v) @) @G ()
B) @) @  Gv) (D)
<© M (i)  (v) (D)
(D) G aGv) @) 1)

8. How does Nimbarka understand the relation between
the individual self and the ultimate self (Brahman) as
expressed in the statement ‘ Tat tvam asr’?

(A) Identity

(B) Difference-in-identity
(C) Identity-in-difference
(D) Accidental

9. How many basic suppositions were espoused
by Heideggar to explore ‘being’?

(A) One
(B) Two
(C) Three
(D) Four

10. What does the expression Khyati mean in the
expressions Akhyati, Anyathakhyati etc.?

(A) Theory of justification
(B) Theory of error

(C) Theory of knowledge
(D) Theory of justice

11. Who is the author of the book Gender Trouble?
(A) Simone de Beavoir
(B) John Stuart Mill
(C) Mary Wollstonecraft
(D) Judith Butler

12. Consider the Assertion (A) and Reason (R) and
select the correct code given below:

Assertion (A) : Ramanuja has adopted a kind
of realistic epistemology.

Reason (R) : He says that the object of

knowledge as well as that of
illusion is real.
Codes :
(A) Both (A) and (R) are true, and (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A)is false, but (R) is true

13. Consider the following statements with
reference to predicate logic and select the correct code
given below:

(1) Individual constant is required for singular

proposition.
(i1)) ‘xisaboy’isthesameas‘  isaboy’.
(iii) ‘A is a boy’ is not the same as *  is a
boy’.

(iv) Both individual variable and individual
constant stand for particular entity.

Codes :
(A) Only (i) and (iv) are true
(B) Only (i) and (iii) are true
(C) Only (ii) and (iv) are true
(D) All are true



14. The term Bodhisattva, according to the
Hinayana school of Buddhism refers to

(A) the past birth of Buddha

(B) stage of Buddha after enlightenment.
(C) stage of Buddha after his death.

(D) None of the above

15. Modern hermeneutics was started by
(A) Heidegger
(B) Nietzsche
(C) Gadamer
(D) Schleiermacher

16. Five pillars of Islam are
(A) Sahadat, Zakat, Mannat, Kalma, Salat
(B) Sahadat, Salat, Zakat, Swom, Hajj
(C) Swom, Mannat, Dua, Kalma, Salat
(D) Mannat, Hajj, Kalma, Swom, Sahadat

17. Match List I with List II and select the correct
answer by using the codes given below :

List 1 List 11
(a) FESAPO (1) IInd figure
(b) DISAMIS (i1) Ist figure
(¢) FESTINO (ii1) IVth figure
(d) FERIO (iv) IlIrd figure
Codes:
@ (b () (@
A) @v) @Gy @) @)
B) 1) G  @Gv) (i)
©) Gy Gv) (@) (D)
D) @) @) Gv) @)
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18. Which of the following is notincluded in the list
of Brahmaviharas of the Buddhists?

(A) Karuna
(B) Maitri
(C) Ananda
(D) Upeksa

19. Feminism is a school of thought which
propounds

(A) critique of rational approach to women
problems.

(B) critique of notion of nationalism.
(C) critique of gender discrimination.
(D) None of the above

20. Match List I with List II and select the correct
answer by using the codes given below :

List 1 List 11
(a) Prabhakara Mimamsaka (i) anyathakhyati
(b) Nyaya (i1) anirvacaniyakhyati

(c) Advaita Vedanta
(d) Visistadvaita
Codes:

(iii) akhyati
(iv) satkhyati

@ b (© @
Ay @ Gy @) (1)
®) @i @ () (@v)
© Gv) @) G ()
(D) G G aGv) (1)

21. Who is the author of Truth and Method?
(A) Ayer
(B) Gadamer
(C) Frege
(D) Schlick
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22. Match List I with List II and select the correct
answer by using the codes given below :

ListI List II
(a) Sarikara (i) Advaitavada
(b) Ramanuja (i) Visistadvaitavada
(c) Nimbarka (ii1)) Dvaitadvaitavada
(d) Madhva (iv) Dvaitavada
Codes:
@ (b () (@
@A) @ @Gy G ()
B) @Gy @) @Gv) @)
©) Gy Gv) (@) (D)
D) v) @) @) (i)

23. Which is the correct symbolization for the
statement given below:
‘If some bananas are yellow, they are ripe’.

(A) (3x) [Bx - (Yx D Rx)]
(B) (3x) [Bx - (Rx > Yx)]
(©) (3x) [(Bx - Yx) o Rx]
(D) (x) [(Bx - Yx) o Rx]

24. ‘Nothing nothings itself ’ is the view of
(A) Russell
(B) Heidegger
(C) Sartre
(D) Frege

25. Which among the following express the
Triratna of the Buddhists?

(A) Dharma, Artha, Kama

(B) Duhkha, Samudaya, Nirodha

(C) Buddha, Dharma, Samgha

(D) Bodhisattva, Amitabha, Avalokite§wara

26. Match List I with List II and select the correct
code from given below :

List 1
(a) Sartre

List Il
(1) Language is

the house of
Being

(i1) Phenomeno-
logical reduction

(ii1) Bad faith

(iv) God is dead

(b) Nietzsche

(c) Heidegger
(d) Husserl
Codes:
@ (b () (@
A) @) @ Gv) ()
B) i)  Gv) 1) (D)
© @ Gy 3G (1)
D) Gv) @Gy @G @)

27. According to Gandhi, satyagraha is
(A) weapon of the weak.
(B) weapon of the peace-wanting people.
(C) weapon of the strong.
(D) weapon ofthe morally vigilantand the active.

28. Linguistic turn appears against
(A) Metaphysics in general
(B) Speculative metaphysics in particular
(C) Unjustified epistemic belief
(D) Cognitive psychology

29. Which among the following is not at all required
for Sabdabodha, according to the Naiyayikas?

(A) Vyakarana, kosa, aptavakya

(B) Upamana, bhiiyodarsana, sadrsya

(C) Vyakarana, vakyasesa, vrddhavyavahara
(D) Kosa, aptavakya, vrddhavyavahara



30. Consider the Assertion (A) and Reason (R) and
select the correct answer from the codes given below:

Assertion (A): The number of distributed
terms in the conclusion must be
at least one less than the total
number of distributed terms in
the premises.

Reason (R) : The middle term does not

appear in the conclusion.
Codes

(A) (A) and (R) both are true and (R) is the
correct explanation of (A).

(B) (A)and (R) both are true but (R) is not the
correct explanation of (A).

(C) (A)is false and (R) is true
(D) Both (A) and (R) are false

31. The function of akasa, according to the Jaina
metaphysics is
(A) to save the world like a roof.
(B) to secure substances from natural hazards.

(C) to afford room for the existence of all
extended substances.

(D) None of the above

0917-111

32. Inthe context of Husserl’s Philosophy, consider
the given Assertion (A) and Reason (R) and then mark
the correct option as given below:

Assertion (A): An essential feature of the
phenomenological method is
its technique of ‘bracketing’ of
the factual dimension of our
experience.

Reason (R) : Phenomenology is concerned

with particular facts.
Codes :

(A) Both (A) and (R) are true and (R) does not
provide the correct explanation of (A).

(B) (A)is true and (R) is false but (R) doesnot
provide the correct explanation of (A).

(C) (A)is true and (R) is false but (R) provides
the correct explanation of (A).

(D) Both (A) and (R) are true and (R) provides
the correct explanation of (A).

33. Akhyativada is the theory of error advocated by
(A) Vedantins
(B) Bhattas
(C) Prabhakaras
(D) Buddhists

34. Aristotle’s ‘Third Man Argument’ against
Plato’s Theory of Ideas seeks to show that it involves

(A) Infinite regress
(B) Petitio principii
(C) Illicit major

(D) None of the above
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35. Recognise the hetvabhasa in:
All fiery objects are smoky
The hill is fiery

Therefore, the hill is smoky

(A) Viruddha

(B) Prakaranasama

(C) Asiddha

(D) Sadharana anaikantika

36. Who wrote Frege : Philosophy of Language?
(A) Moore
(B) Russell
(C) Carnap

(D) Dummett

37. Which one of the following statements is true?
(A) (3x) ¢x follows from (x) dpx
(B) (3x) (6x - ¥x) follows from (x) (¢x D ¥x)

(C) (3x)(Px - Tx) follows from (x) [(Px - Tx) >
Dx]

(D) (x) Fx follows from (y) (Dxy o Fx)

38. Which among the following are objective forms
of experience, according to the Vaisesikas?

(A) Time and space

(B) Earth, water, fire and air
(C) Mind and spirit

(D) None of the above

39. ‘The issue of realism does not really centre
round the nature of entities , it is rather associated with
the nature of truth’ is maintained by

(A) Davidson
(B) Ayer
(C) Quine
(D) Dummett

X-8

40. Who held that ‘Knowledge is virtue’?
(A) Kant
(B) Thales
(C) Anaximender
(D) Socrates

41. The relation of the individual soul with God,
according to Ramanuja, is

(A) Samavaya

(B) Samyoga

(C) Aprthakasiddhi
(D) Bhedabheda

42. The primacy of ‘knowing how’ over ‘knowing
that” was propounded by

(A) Russell

(B) Ryle

(C) Wittgenstein
(D) Austin

43. Consider the following argument and identify
the correct answer from the statements given below:

NoMis P
NoSisM
.. NoSisP
(A) the fallacy of Illicit Major
(B) the fallacy of Illicit Minor
(C) the fallacy of Undistributed Middle
(D) None of the above
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44. Match List I with List IT and select the correct 46. Who believes that a  ‘Number’ is the world
answer by using the codes given below : ground, the stuff out of which the universe is made.’?
ListI List II (A) Thales
(a) Perception (1) Samjna samyjii - (B) Anaximender
Sambandha (C) Heraclitus
(b) Inferenc.e (11) D,r‘s,tén'ta (D) Pythagorus
(¢) Comparison (ii1)) Vyapti
(d) Testimony (iv) Jnanalaksana
Codes:
@ (b () (@
(A) (1) (1) (ii1) (iv) 47. Which of the following are not the kinds of
(B) (iv) (iii) (i) (i) pratyaksa, according to Nyaya-Vaisesika?
©) () (ii) (iii) (iv) (A) Samanyalaksana and Jhianalaksana
(D) (i) G (Gv) (i) (B) Laukika and Alaukika
(C) Yogaja

(D) Bahya and Antara

45. Match List I with List II and select the correct
answer by using the codes given below :

List I List IT 48. Which of the following is not correct?

(a) Wittgenstein (i) Language is the (A) The negation of a contingent statement is
house of being. not contingent.

(b) Heidegger (i1) We have a (B) The negation of a tautology is self-
unified contradictory.
conceptual (C) The negation of a self-contradictory

scheme. _ statement is a tautology.

(c) Strawson (i) A sFeech ?Ct sa (D) The negation of a contingent statement is
performative contingent.
Utterance.

(d) Austin (iv) Philosophical

problems arise
when language

goes on holiday.
49. The philosopher who advocates radical

Codes: interpretation as basic to the investigation of language,
(a) (b) (©) (d) mind, action and knowledge is
A) @ (i) @) (i) (A) Davidson
B) Gv) @) (i) (i) (B) Searle
© @ @@ @ (1) (C) Strawson

(D) ) G aGv) () (D) Dummett
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50. Match the following:
List 1

(a) Ramanuja

(b) Srinivasa

List Il

(1) Tattvaprakasika

(i1) Vedantaparijata-
saurabha

(iii) Sribhasya

(iv) Yatindramata-
dipika

(c) Jayatirtha
(d) Nimbarka

Codes:
@ (b (© (@
A) @ (i) @) (i)
B) @ @G  (Gv) (D)
© ) @y Gv) @)
(D) @)  @Gv) (@) (i1)

51. Prescriptivism as a meta-ethical theory is
advocated by

(A) Kant
(B) Moore
(C) Mill
(D) Hare

52. Match List I with List II and select the correct
answer by using the codes given below :

List 1 List 11
(a) Sarikara (1) Visnutatt-
vavinirnaya

(ii) Sarirakabhasya

(iii) Prasthanaratna-
kara

(iv) Pafcapadika

(b) Vallabha
(c) Madhva

(d) Padmapada
Codes:

@ (b (© (@

A) (v) @) () (D)

B) i) @  (Gv) (D)

© ) @) @ (1)

(D) @)  @Gv) @) (1)

X-10

53. Which of the following is not true under the
Boolean interpretation?

(A) No categorical proposition has existential
import.

(B) Categorical propositions are explained with
regard to class concept.

(C) There is empty class.

(D) Only contradiction relation of propositions
holds good.

54. The view that cit and a-cit are two parts of
Brahman is held by

(A) Samkara
(B) Madhva
(C) Ramanuja
(D) Jaimini

55. ‘There is no ontological reality of causality’ is
the view admitted by

(A) Aristotle

(B) Kant

(C) Mill

(D) None of the above

56. Consider the Assertion (A) and Reason (R) and
choose the correct answer from the codes given below:
Assertion (A) : Madhva calls
‘deceitful demons’.
: According to Madhva, ‘They
play in the darkness of
ignorance and provide false
interpretation of Veda.’

Advaitins

Reason (R)

Codes:
(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A)and (R) are true but (R) is not the
correct explanation of (A).

(C) (A)is true but (R) is false.
(D) (A)is false and (R) is true.



57. Consider the following statements and select the
correct code given below:
(1) An axiomatic system is consistent because
it begins with a limited number of axioms.
(i1) Theorems are derived from axioms by
applying the Transformation Rules which
are truth-preserving.
(iii) In an axiomatic system both P and ~ P
cannot be derived as theorems
(iv) An axiomatic system is complete

Codes:
(A) Only (i) and (ii) are true
(B) Only (ii) and (iii) are true
(C) Only (iii) is true
(D) Only (i), (i) and (iii) are true

58. According to referential theory, the meaning of
language is determined by

(A) the reference of language.

(B) the referential connection of language.
(C) the dispositional power of language.
(D) the locutionary force of language.

59. Consider the Assertion (A) and Reason (R) and
select the correct code given below:
Assertion (A) : According to Hume, there is no
permanent and abiding
spiritual substance apart from a
series of feelings and ideas.

Reason (R) : Whenever we try to perceive it

we can perceive it.
Codes:
(A) Both (A) and (R) are true and (R) is a
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not a
correct explanation of (A).

(C) (A)is true but (R) is false.
(D) (A)is false but (R) is true.

X-11 0917-111

60. Which of the following is acceptable to
Visistadvaita system as a means of moksa?

(A) Karma-bhakti
(B) Bhakti-prapatti
(C) Jnana-karma

(D) None of the above

61. Which of the following is not a propositional
function?

(A) (x) BxoCx)o(y) (ByoCx)
(B) (x) Bx>Cx)>Dx
(C) x is the father of Ram

(D) astands on the right side of' b (where ‘a’ and
‘b’ stand for individual constants).

62. Who among the following philosophers
advocated no-sense theory of reference?
(A) Frege
(B) Strawson
(C) Ryle

(D) Russell

63. According to Ramanuja, the individual soul is
(A) Only jiata
(B) Jiata and karta
(C) Karta and bhokta
(D) Jnata, karta and bhokta

64. ‘Tooth for a tooth and eye for an eye’ is the
principle of

(A) Retributive theory
(B) Deterrent Theory
(C) Reformative theory
(D) All of the above
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65. Which sort of existence or satta does the world
have, according to Samkara?

(A) Vyavaharika
(B) Paramarthika
(C) Pratibhasika
(D) None of the above

66. According to Quine, naturalised epistemology
differs from classical epistemology because
(i) Classical epistemology is based on
dogmas.
(i1) Classical epistemology is not accorded
with common sense and natural sciences.
(iii) Classical epitemology is concerned with
human knowledge.
(iv) Classical epistemology functions within
science itself.

Codes:
(A) Only (i) and (ii) are true
(B) Only (ii) and (iii) are true
(C) Only (iv) is true
(D) Only (i) and (iv) are true

67. Consider the Assertion (A) and Reason (R) and
select the correct code given below:

Assertion (A) : Madhva advocates both
quantitative and qualitative
pluralism of souls.

: Madhva believes that in
liberation, the soul differs in
degrees regarding their
possession of knowledge and
enjoyment of bliss.

Reason (R)

Codes:
(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A)and (R) are true and (R) is not the
correct explanation of (A).

(C) (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.

X-12

68. ‘Extension is not real’, according to
(A) Leibnitz
(B) Locke
(C) Descartes
(D) None of the above

69. Which one of the following is not included in
the scheme of four purusarthas?

(A) Kama
(B) Prayer
(C) Artha
(D) Dharma

70. Edmund L. Gettier doubts about the
(A) correctness of entailmemt theory.

(B) satisfaction of evidence condition of
knowledge.

(C) ordinary usage of knowledge.

(D) correctness of the traditional definition of
knowledge.

71. Wittgenstein’s ‘picture theory’ is broadly
considered as

(A) correspondence theory of truth
(B) coherence theory of truth

(C) pragmatic theory of truth

(D) None of the above

72. Which schools of Indian philosophy believe that
liberation can be attained when ignorance is removed?

(A) Carvaka, Bauddha and Jaina

(B) Carvaka, Bauddha and Vaisesika

(C) Carvaka, Vaisesika and Mimamsa

(D) Bauddha, Mimamsa and Advaita Vedanta



73. Plato asserted that knowledge is
(A) justified belief
(B) justified true belief
(C) true belief
(D) belief

74. The unique feature of Prabhakara Mimamsa is
(A) Jiatata
(B) Pratityasamutpadavada
(C) Triputipratyaksavada
(D) Anekantavada

X-13
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75. Match List I with List II and select the correct
answer by using the codes given below :

List 1 List 11
(a) God is Jehovah (1) Islam
(b) God is Allah (i1) Christianity
(¢) God is the HolyTrinity  (iii) Hinduism
(d) God is antaryami (iv) Judaism
Codes:
@ (b (0 (@
A) @v) @Gy @ (i)
B) Gv) @  @G) (i)
© Gy @ G (1)
D) G(v) @Gy @G @)
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ROUGH WORK
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